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What is the slope of each of the following lines? “~

What is the equation of
each of the following
lines?
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Which of the following graphs illustrate direct variation?
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Which of the following equations represent direct variation?
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Simplify
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L\—X+2:j +y8=0

Write the above equation in each of the following forms.

Function form. Slope-intercept form. Standard form.
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Answers

Page

1 -3 Undefjned. Zero
X=-2. Y=-2

2 No 7 No. No. Yes. No
No. Yes

3 Yes. No. Yes. 8 to

y{x |15z 3: 4x+6 4.6x-8

4 2NT |15 simplfred 9 ;- 2(2)0

3. 25%

5 ngz 4. 66
o 1 OY=-2x-4. Y=-2x-4. 4x+2y=-8






